Converting Inches and Centimeters (G)

Use the rulers to convert inches (nearest %g) and centimeters (nearest 0.1).
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4 in = cm 9.2cm = in

4.4 cm = in 3% in= cm

41 cm = in 15.2 cm = in

43 in = cm 11.7 cm = in

47 in = cm 3 in = cm

3.8cm = in 10.2 cm = in

8.3cm = in 10.5cm = in

1 in= cm 35%in = cm
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Converting Inches and Centimeters (G) Answers

Use the rulers to convert inches (nearest %) and centimeters (nearest 0.1).

0O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15
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0 1 2 3 4 5 6

10.2cm =4 in

44cm=13%in

41cm=15in

11.1cm =4 34 in

124 cm =4 74 in

3.8cm=1%in

8.3cm=3%in

25cm =1 in

9.2cm = 3 % in

89 cm=3%in

15.2cm =6 in

11.7cm =4 54 in

1.9 cm = 34 in

10.2cm =4 in

10.5cm =4 Y% in

9.2cm =35 in

Math-Drills.Com




